Subtraction Crossing 10

Suzy won 20 tokens at the fair. She chooses 3 prizes with her tokens and has less than
10 tokens left. :

Price List

oooooooooooo
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Investigate 3 different combinations of prizes that Suzy may have chosen. An example
is shown below.

Suzy chose | aballoon |, a ball and | a cupcake
51+ 5 |+| 3 |=]|13 20(-113|=| 7 Suzy has| 7 |tokens left.
Suzy chose , and
+ + = - = Suzy has tokens left.
Suzy chose , and
+ + = - = Suzy has tokens left.
Suzy chose , and
+ + = - = Suzy has tokens left.

Classroom visit Kids.classroomsecrets.co.uk for online games to support learning.

secrets
© Classroom Secrefs Limited 2020  JOiN our o Group: Coronavirus Home Learning Support for Teachers and Parents



